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Question: 269

A womanÆs body usually ovulates around what day in a normal 30-day cycle?

A. Day 5.
B. Day 10.
C. Day 14.
D. Day 22.

Answer: C

Question: 270

Sperm, once created, are stored in an area of the male body called the ______.

A. Scrotal sac.
B. Epididymis.
C. Seminal vesicles.
D. CowperÆs glands.

Answer: B

Question: 271

Which of these is the best analogy describing the function of the kidneys?

A. D. soldier training facility
B. A control center
C. A medical facility
D. A soldier training facility

Answer: A

Question: 272

What is the most widely distributed type of sweat gland?

A. Apocrine
B. Endocrine



C. Eccrine
D. Submucosal

Answer: C

Question: 273

Michael is playing on the playground with Suzy and decides to climb the castle while Suzy stays on the ground.
MichaelÆs position relative to Suzy is ________.

A. superior.
B. inferior.
C. anterior.
D. posterior.

Answer: A

Question: 274

Moving the arm toward the body would be described as a _______ movement, rather than a ______ movement.

A. distal, proximal.
B. proximal, distal.
C. proximal, anterior.
D. anterior, superior.

Answer: B

Question: 275

The orthopedic surgeon informs you that you have broken the end of your femur. What area is she describing?

A. Epiphysis.
B. Diaphysis.
C. Shaft.
D. Bone matrix

Answer: A

Question: 276

Which of the following is true of the axial skeleton?



A. The facial bones include four nasal bones.
B. The mandible and maxilla are the only moveable bones of the skull.
C. Ossicles are a part of the jaw bone.
D. The axial skeleton consists of a total of 28 bones of the skull.

Answer: D

Question: 277

A patient of yours is diagnosed with emphysema. In emphysema, the alveoli have trouble exchanging gases
between the atmosphere and the blood. It would be true to say that this patient has difficulty with what type of
respiration?

A. Internal.
B. External.
C. Subliminal.
D. Encapsulating.

Answer: B

Question: 278

Deflections of the EKG represent which of the following?

A. The contraction of the heart.
B. The relaxation of the heart.
C. The electrical activity that precedes contraction and relaxation.
D. The physical movement that precedes contraction and relaxation.

Answer: C

Question: 279

Follicle-stimulating hormone, thyroid-stimulating hormone, and luteinizing hormone are what type of hormones?

A. Tropic
B. Pituitary
C. Sexual
D. Adrenal

Answer: A



Question: 280

What is the purpose of the mastication of food?

A. To absorb proteins
B. To increase its surface area
C. To prevent digestion
D. To break it down to lessen the time it spends in the stomach

Answer: B

Question: 281

What stimulates the interstitial cells of the testicles to produce testosterone?

A. CowperÆs gland.
B. LH (luteinizing hormone)
C. FSH (follicle-stimulating hormone)
D. Tropic hormones.

Answer: B

Question: 282

Inhalation requires the contraction of what structure?

A. The lungs.
B. The lower respiratory tubules.
C. The diaphragm.
D. The upper respiratory tubules.

Answer: C
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